%36[E1J ABAUDCH

¥ =F/\UXBBC (Fm304£10A28H (H) : 2FILEkZ)

HESR S
1 2 3 4 5 6 7 8 9 10 a5t| E
TITE 1 0 1 2 1 1 0 0 0 0 6 -
=F+/)\OXBBC 0 0 0 0 0 0 0 0 0 0 3 1
MRMUEERES 0 0 0} 0 0 0 0 0} 0 1x 1 0
T 0 1 0 1 0 0 1 0 0 2% 5 -
(5] <MRLUEBHKRERS> ®F : El 10B541JL—2
1| <H@E K& 1E | 26 | 3E | 46 | 5B | 6B | 7E | 8E |, 9E | 10El || {18 | & | 1= | BB | KR
1 8 RERE =710 10 100 =i 4
2 6 MEFIR =i bl Vasbin] =10 4
3 9 ERRE Hh7R BEBK kT ZE |=2£y 3 1
al| 3 LR IPN =10 ] —DP = [-==4 4 1
5 5 EEpLsh EHi(1) =i PoEk iR 3 2 (1)
6 D IV | K AE A —In =R = 4
7 7 JINEBESF] —1'0 =R by g 4 1 1
8 2 RRERER W10 R =10 3
9 4 YIS =R Fh7R MuEK(1) 2 (1)
(1F] <MRLUESKEE>
K& E1#K ITE (R =T | eam | BT (W% =R | kR |BES| [BREF) @GN
@A 10@ 35 | 114 6 1 1 7 0 0 (Z£4])
[=£17]
€32 )!
(#F] <MRLUESKES>
K& RER FTBIhE 2 B2
JKEBE—EB 1
(BFF] <=F/)\DR> 10B541JL—2
1| <H&E K& 16 ( 2E | 3E | 4E | 56 | 6B | 7E | 8E | 9E | 10[E || 7% | &7 | 1= | BB | &R
) 7 MBI AT 1 —1'n 2
H.9 & - =R 2
2 6 IZ1E P Vs ] =710 =R 4 1
3 8 EXM =i ot | 5= =R 4 2
4 D FIR =10 . am 110 4 1
R Sabas —E2EE
3 L2 PR =ik [
5[ H.3 N = = |
5 i —82EE
6 2 [idl:i —DP —1'0 A 3
2 HE =)
7 4 K =10 FhR =10 —1'n 4
8| 5.3 AT k= Anl R #1'0 4 2
9 9.7 EH —1'0 —1n 2
H.7 R =R 1
X1 ZEFIOUT
(F] <=F/N\DR>
K& 1% T8 (IR =7 | am | 81T MR | =R | ks |BES| (BEEF) FEL
) 8[@l 27 94 3 3 5 [ZE24T] BN FER. 2H
I 1[@1/3 7 22 2 3 1 [=£4])
€ 3=2)!
(#F] <=F/N\DR>
K& IRER TEIhE B 43 EER
[iigk 47 2

HE




	ミキ

